RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving Fiscal Year 2013 Gu-Vo District Administration Budget Amendment No. 1, Gu-Vo Community Budget Modification No. 2, Ali Chugk Community Budget Amendment No. 1, and Kukatch Community Budget Amendment/Modification No. 2)

RESOLUTION NO. 13-114

1	WHEREAS,	the Gu-Vo District Administration, Gu-Vo Community, Ali Chugk Community, and
2		KukatchCommunitydidsubmittheirFiscalYear2013BudgetandJustificationalongAlgorithms
3		with amendments, which was approved with Tohono O'odham Legislative Council
4		Resolution No.12-457; and
5	WHEREAS,	by Gu-Vo District Governing Council Resolution No. GV-13-030, the Gu Vo District
6		$ {\bf Council voted to amend and modify the FY 2013 budget for the Administration and its approximately approx$
7		three (3) Communities according to the identified needs of the Communities and the
8		District, which then was submitted to the TohonoO'odhamLegislativeCouncilBudget
9		and Finance Committee for review; and
10	WHEREAS,	$the Administration\ and\ its\ three\ (3)\ communities\ did\ prepare\ and\ acquire\ the\ properties$
11		approval of the attached amendments and modifications and its justification; and
12	WHEREAS,	the Gu-VoDistrictAdministrationistocarryforwardfundsintotheAdministration's
13		Fiscal Year 2013 Budget in the amount of \$120,120.42 from Fiscal Year 2011 with
14		Amendment/Modification No. 2, which includes a budget amendment to add line item 2000 absolute 1000 a
15		${\bf no.6004\text{-}Bonus, an amendmentto6005\text{-}OccasionalAppointmentlanguagetoincrease}$
16	Į Į	the number of appointments from two (2) to three (3), and an amendment to 6120-
17		Workers Compensation to change the rate to 0.0124 per the budget office with an
18		increase in the number of Occasional Appointments from two (2) to (3) three, and other constant (2) to (3) three, and other (3) three, and (4) three, and
19		budget modifications and amendments to increase funding in as sorted line items per increase funding in as sorted line ite
20		the attached budget amendment and modification; and
21	WHEREAS,	the Gu-Vo Community would be modified by increasing 6510-Lodging in the amount
22		of \$4,873.72 and 7110-Communication Expense in the amount of \$4,202.00 and
23		decreasing 6530-Transportation in the amount of \$2,873.00 and 7615-
24		Donation/Contribution in the amount of \$6,202.00 with Modification No. 2 per the
25		attached budget modification; and
26	WHEREAS,	the Ali Chugk Community budget would amend by carrying forward from Fiscal Year
27		2012\$75,973.83 to increase various line items with their budget Amendment No.1 permission
28		the attached budget amendment and modification; and

	RESOLUTION NO. <u>13-114</u> (Approving Fiscal Year 2013 Gu-Vo DistrictAdministration BudgetAmendment No. 1, Gu-Vo Community Budget Modification No. 2, Ali Chugk Community Budget Amendment No. 1, and Kukatch Community Budget Amendment/Modification No. 2) Page 2 of 3
1	WHEREAS, the Kukatch Community budget would be amended by carrying forward from Fiscal
2	Year 2012 \$24,800.00 to increase various line items, as well as amendments to the
3	justification of 7035-Building Material to include repairs for the community church
4	and community building; 7060-Food to decrease the amount of holidays celebrated
5	and adding San Husi Church Feast; and 7610-Clothing Allowance by decreasing the
6	amount of children eligible for assistance to ten (10); with their budget
7	Amendment/Modification No. 2 per the attached budget amendment and
8	modification.
9	NOW, THEREFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that it approves
10	the Fiscal Year 2013 Gu-Vo District Administration Budget Amendment No. 1, Gu-Vo
11	Community Budget Modification No. 2, Ali Chugk Community Budget Amendment No.
12	1, and Kukatch Community Budget Amendment/Modification No. 2 as attached and
13	as provided in this resolution.
14	BE IT FINALLY RESOLVED that the Tohono O'odham Legislative Council hereby authorizes the
15	Chairperson and any designated official to expend and administer the budget as
16	attached, provided that any amendments affecting the funds or funding levels shall
17	be approved by the Tohono O'odham Legislative Council.
18	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 02^{ND} Day of APRIL, 2013 at a meeting at which a quorum was present with a vote of 2,780.60 FOR; -0-
19 20	AGAINST; <u>-0-</u> NOT VOTING; and [<u>01</u>] ABSENT, pursuant to the powers vested in the Council by Article
21	VI, Section 1 (d)(2) and (3) of the Constitution of the Tohono O'odham Nation, adopted by the
22	Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant
23	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June
24	18, 1934 (48 Stat. 984).
25	
26	TOHONO O'ODHAM LEGISLATIVE COUNCIL
27	This Hell
28	1/1/WILLX XV77(0)
29 30	rimothy Joaquin, Legislative Chairman
31	
31 32	5 day of Harry, 2013
33	
34	
35	ATTEST:
36	V/11/1000 2011/1/2
37	MANUALINE -
38	Evonne Wilson, Legislative Secretary
39 40	3 day of
70	1

	RESOLUTION NO. <u>13-114</u> (Approving Fiscal Year 2013 Gu-Vo District Administration Budget Amendment No. 1, Gu-Vo Community Budget Modification No. 2, Ali Chugk Community Budget Amendment No. 1, and Kukatch Community Budget Amendment/Modification No. 2) Page 3 of 3							
1	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham							
2	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the							
3	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective							
4	upon his approval or upon his failure to either approve or disapprove it within 48 hours of							
5	submittal.							
6 7	TOHONO OLODINAM LEGIGLATURE CONNECT							
8	TOHONO O'ODHAM LEGISLATIVE COUNCIL							
9	I have the last							
10	1 / While XI Back							
11	Jimothy Joaquin, Legislative Chairman							
12								
13								
14	\mathcal{L}							
15 16	APPROVED on the day of 12013							
17	on the, 2013							
18	[] APPROVED on the O' day of							
19	50 1							
20	$X \setminus X \setminus$							
21								
22	NED NORRIS, JR., CHAIRMAN							
23	TOHONO O'ODHAM NATION							
24 25								
26								
27								
28	Returned to the Legislative Secretary on the day of							
29	<u> </u>							
30	(fpl , 2013, at /0:15 o'clock, a.m.							
31								
32	Characella							
33 34	Evonne Wilson, Legislative Secretary							
35	Evolue wason, legislative secretary							
36								
37								
38								
39								
40								
41								
42								
43 44								
45								
46								
47								
48								
49								

ACTION: APPROVING FISCAL YEAR 2013 GU-VO DISTRICT ADMINISTRATION BUDGET AMENDMENT NO.1, GU-VO COMMUNITY BUDGET MODIFICATION NO.2, ALI CHUGK COMMUNITY BUDGET AMENDMENT NO.1, AND

KUKATCH COMMUNITY BUDGET AMENDMENT/MODIFICATION NO. 2

MOVED: COUNCILWOMAN FRANCES G. ANTONE

SECOND: COUNCILWOMAN PAMELA ANGHILL

DATE: APRIL 02, 2013

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 342.0	FRANCES MIGUEL (Roberta Harvey) FRANCES G. ANTONE	171.0	x			
	(Vernon Smith)	171.0	x			·
CHUKUT KUK 302.2	1. ETHEL GARCIA (Absent) (Sara Mae Williams)(Present)	151.10	X			
302.2	2. BILLMAN LOPEZ ()	151.10	х			
GU ACHI	1. TIMOTHY L. JOAQUIN	122.45	x			
244.9	2. CYNTHIA E. MANUEL (Louis L. Johnson)	122.45	х			
GU VO	1. GRACE MANUEL (Floyd Flores)	113.35	x			
226.7	2. PAMELA ANGHILL	113.35	x			
HICKIWAN	LOUIS R. LOPEZ (Michelle Ortega)	93.15	x			
186.3	2. SANDRA ORTEGA	93.15	х			
PISINEMO	1. CHESTER ANTONE	100.35	x			
200.7	(Tony Murrietta) 2. EDWARD MANUEL (Gerald Fayuant)	100.35	Х			
SAN LUCY	LORRAINE EILER (Absent) (Diana Manuel) (Present)	102.30	х			
204.6	2. JANA MONTANA (Gloria Ramirez)	102.30	х			
SAN XAVIER	1. HILARION CAMPUS (Racheal Vilson-Stoner)	107.90	X			
215.8	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	107.90	Х			
SCHUK TOAK	1. FRANCES B. STEPHENS (Anthony J. Rios)	84.90	Х			
169.8	2. FREDERICK JOSE (Phyllis Cachora)	84.90	х			
OFT TO	1. ARTHUR WILSON (Absent)	237.85	Х			
SELLS 475.7	(Kimberly Mull)(Present) 2. MARIA ACKERMAN ()	237.85	х			
CIE OID AV	1. NICHOLAS JOSE	105.95	х			
SIF OIDAK 211.9	2. MARY LOPEZ	105.95	х		s	x
TOTAL		2,780.60	2,780.60	-0-	-0-	[01]